EMRUBE LOBRBECEOBAER(FM2E4R1BHE)

ITEEEAG R RAR A BRI R

Hﬁ%%o) P &t | N R B 75 £ 0D R B .
L (N (%) B 4 (N | (N | (%) | (EB)
1 FEORH F= 64
1%k (2 HEADOBETE 64 15.7|%Am 0
it 64
2B |FEDOBHE 63 154 = - o3
it 63 279 682 RE#HK
IR [EEDOBETE 95/ 232 tE - %
i 95
4% |BIERH DR 57| 139 GiES - >
it 57
1 FHRROBS RE 78
5% 2 THOBB 83| 203 L5 ° 83 203 | RE#MK
3 HEHEDORDBHE HE#BEDOR 0
it 83
1 KA EEEOBE R EEE 1
2 IEEEDORBE EEE 0
- 3 REROBH P #E 27 57 01| BER
4 EROBH =R 0
5 E#LEEBEEIT HE#KBDOR 9
HEKBOROBES H 37
1 EROBH HE 9
T |12 BEEBRROBE 10 24|BEEHBHEER 1 10 2.4| ERERHR
B 10
& &t 409| 100.0

X BEBBAEXRZELTVDBEIAITEELLY,




- REBOHRBEERBR

. = M3 B35 £ oD ERRE
BEDRK HELGDETS
(N)] (%) 2 (N (A | (%) | (EXBE)
18k [HEFEENDBF 0| 00 [#FEEm 0
1 {REET DTS R (2R 5
2%k |2 BEEMOBE 5 250 [FHEAm 0
5
1 FEERBENOEE FERERN 10 _
18 900 | RE#HK
3R (2 EEFBEMOBHE 10| 500 [F{EFEEEM 0
10
1 BIfRBEDR DB Bl R AR R 3
4%k |2 BIFHEEIROBE 3 150 [RIFEME 0
3
1 {RIEER R OB ®RE 2
5% |2 BEEROBE 2| 100 (FEMK 0 2| 100 | RE#HK
2
& F 20/ 100.0
RAeFm HRERHRBHE ORI ER
I — &t M3 B 75 £ oD R
(N)] (%) B4 (N (A | (%) | (ExBE)
1R |HEER U FEE A DB 0| 00 |5 0
L e s IR Y 1 71000 HE®
MR [MIEBERRER UV H B E OB 6| 85.7 [FRAEF T 6
4R |BEOHERRER U HHEE OB 0| 00 |HEe7 75H 0
& &t 7| 100.0




